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2. Why does production eventually experience diminishing marginal returns to

labor in the short run? Use an example to illustrate.
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1. Suppose you are in charge of a toll bridge that costs essentially nothing to

operate. The demand for bridge crossings Q is given by P=15-Q/2

a.
b.

C.

Draw the demand curve for bridge crossings.
How many people would cross the bridge if there were no toll?
What is the loss of consumer surplus associated with a bridge toll of $5?

The toll-bridge operator is considering an increase in the toll to $7. At this
higher price, how many people would cross the bridge? Would the
toll-bridge revenue increase or decrease? What does your answer tell you
about the elasticity of demand?

Find the lost consumer surplus associated with the increase in the price of
the toll from $5 to $7.
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1. What is tariff? Suppose the congress imposes a tariff on imported autos to

protect the U.S. auto industry from foreign competitions. Assuming that

United States is a price taker in the world auto market, show on diagram and

explain in detail: the change in the quantity of imports, the loss to U.S.

consumers, the gain to U.S. manufactures, government revenue, and the

deadweight loss associate the tariff. The loss to consumers can be decomposed

into three pieces: a transfer to domestic producer, a transfer to the government,

and a deadweight loss. Use your diagram to identify these three pieces.

Explain the advantage and disadvantage of this tariff policy.
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3. Strategic Management
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3. What is human resource management? Please list major activities in human

resource management.
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